FCPS Algebra Common Assessment (ACA) 4 (2022) revison Name
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1 What is the value of x in this equation?
Bx-2(2x-1)=6
A3
B. 4
c. 7
D8
2 How many solutions are there to this equation?
Tx - 3(x - 1)=2(2x + 3)
A no solution
B. exactly one solution
C. at least two solutions
D. infinitely many solutions
3 Which equation matches the graph?
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Select the compound inequality shown on the graph.
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A xr—landx=4 or-1=<x=4
B. ¥x=—1andx<2 or-—1=x<2

C. ¥x=—1andx=<3 or—1=x<3

o O 0O O

D x=—1andx=5 or—1=<x=5

Find the solution to the system of equations.

4y — 3y = -1
Jx—9y =233
solution = { [ ]}

Choices for solution:

(as ) [as ) as)(as ]

Simplify: (-2x - 3) — (3% - 8x + 9). Choose the standard form of the answer.

O A -3¥-6x-12
O B -3r¥-09x+12
O C -3+6x-12
o)

D. -3x¥¥ -Bx+12

What is the product of (7x2 - 3)(8x2 - 7x + 5)7

O A 56x*-500 + 11X - 21x- 15
O B. 56x*-40x + 1382 + 21x+ 15
O c. s6x*- 490 + 1% + 21x - 15
O

D 56x* — 40%° — 132 - 21x - 15




What is the product of (3y - 5)(3y + 5)?

O A 167 +7
3 O B 9y°-25
O c 162-7
O D. 9y°+25
:] and 15ab? have a GCF of 5ab?. Fill in the blank.
o A. 30ab?
9 o B. 30a2h°
o C. 25ab
o D. 5ab?
What is the factored form of x2 - x - 207
O A (x-5)x-4)
10 O B (x-5)x+4)
O C. x(x+4)-5(x+4)
O D x(x-1)-20
Factor 10y? + 54y — 36 completely.
A 2(y-B)3y +3)
11

B. (2y+12)(5y-3)

C. 2y(5y + 27) - 36

o O O O

D. 2(y +6)(3y - 3)




Factor the perfect square trinomial 4x2 - 20x + 25,

O A (2x-5)(2x+10)
_ 2
12 O B. (2x-5)
O C (2x-5)(2x+5)
O D. (2x+5)§
What is the vertex of the function f(x) = 3(x — 4)2 + 57
vertex: (| | )
13 | choices for boxes.

(=) | s sy B8

The function h({f) = —16F + 40t models the height, in feet, of a ball t seconds after it is thrown into the air.
What is the maximum height the ball reaches after it is thrown?

O A 251t
14 | © B 271
O c 501
O D 751
What are the solutions to x2 + 2x — 8 = 0?
O A 0,2
O B 2 -4
15
O cC -2.4
O D 24
Which is equivalent to (3\/12::5 ) (él\/l?it:E ) ?
O A 144y
16 O B. 144x*
O C. 24¢
O D 12¢*




Which are the solutions of 3x2 — 2x — 5 = 0 by factoring?

1
O A _5, 3
© B _1.3
'3
17
[
© c 1, -
1
O D 5, 5
Use the Quadratic Formula to solve 2x2 + 3x = 4. Which of the following are the solutions to the nearest
hundredth?
C A 235and0.85
18 | © B 235and-085
C C —235and0.85
C D -235and-085
What are the coordinates of the vertex (h, k) of the graph of y = x2 + 14x + 33?
A (1B, T)
B. (16,-T)
19
C. (7,-16)
D. (-7, -16)
Which is an expression for \/175 without a perfect square factor in the radicand?
A YT0
20 B 57
C. 5,/10

D- 28y/5




